
https://www.geekcert.com/200-125.html
2021 Latest geekcert 200-125 PDF and VCE dumps Download

 

 

 

200-125Q&As

Cisco Certified Network Associate

Pass Cisco 200-125 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.geekcert.com/200-125.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by Cisco
Official Exam Center

 

 

200-125 Study Guide | 200-125 Exam Questions | 200-125 Braindumps                                1 / 6

https://www.geekcert.com/200-125.html
https://www.geekcert.com/200-125.html
https://www.geekcert.com/200-125.html


https://www.geekcert.com/200-125.html
2021 Latest geekcert 200-125 PDF and VCE dumps Download

QUESTION 1

Which statement about spanning-tree root-bridge election is true? 

A. Every root bridge must reside on the same root switch. 

B. It is always performed automatically. 

C. Every VLAN must use the same root bridge. 

D. Each VLAN must have its own root bridge. 

Correct Answer: B 

 

 

QUESTION 2

Scenario: 

Refer to the topology. Your company has decided to connect the main office with three other remote branch offices
using point-to-point serial links. 

You are required to troubleshoot and resolve OSPF neighbor adjacency issues between the main office and the routers
located in the remote branch offices. 

An OSPF neighbor adjacency is not formed between R3 in the main office and R4 in the Branch1 office. What is
causing the problem? 

A. There is an area ID mismatch. 

B. There is a Layer 2 issue; an encapsulation mismatch on serial links. 
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C. There is an OSPF hello and dead interval mismatch. 

D. The R3 router ID is configured on R4. 

Correct Answer: A 

A show running-config command on R3 and R4 shows that R4 is incorrectly configured for area 2: 

 

QUESTION 3
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You are verifying the EIGRP configurations in the topology. Which statement is true? 

A. Branch2 Lan network 172.16.11.0/24 is not advertised into the EIGRP network. 

B. Branch2 Lan network 172.16.10.0/24 is not advertised into the EIGRP network. 

C. R3 server farm2 network 10.20.30.0/24 is not advertised into the EIGRP network. 

D. Branch1 Lan network 172.16.12.0/24 is not advertised into the EIGRP network. 

Correct Answer: D 
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QUESTION 4

Which three elements must be used when you configure a router interface for VLAN trunking? (Choose three.) 

A. one physical interface for each subinterface 

B. one IP network or subnetwork for each subinterface 

C. a management domain for each subinterface 

D. subinterface encapsulation identifiers that match VLAN tags 

E. one subinterface per VLAN 

F. subinterface numbering that matches VLAN tags 

Correct Answer: BDE 

This scenario is commonly called a router on a stick. A short, well written article on this operation can be found here:
http://www.thebryantadvantage.com/RouterOnAStickCCNACertificationExamTutorial.htm 

 

QUESTION 5

A BPDU guard is configured on an interface that has PortFast Enable. Which state does the interface enter when it
recives a BPDU? 

A. Blocking. 

B. Shutdown. 

C. Listening. 

D. Errdisable. 

Correct Answer: D 
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